Solve, giving your answers correct to 3 decimal places, () 3**' = 15, (b) (0-8)> = 045

) 341 = 5 (b) (08) = 045
log 3! = log 15 log(0-8)™ = log 045
(x+1)log3 = log 15 S xlog(0-8) = log 045
log 15 _ log 0-45
LS Tog3 % = " Tog 08
_ log 15 L = 35784
Tog3 or x = 1789
or x = 1465
Example 10
Solve for x the equations (a) ' + 4 = 21 x 5%, (b) logyx + log9 = 3.
() St 4= x5 (b) logyx + log9 =3
or Sx ¥ -2Ax5+4=0 log) _
_I_
letting y = 5", logs¥ logx =
-y +4=10 (logyx)* + 2 = 3 logyx
Gy-Dy-4=10 letting y = log;x,
:% or y=4 y2"3y+2:0
=1 or =4 y-Dy-2=0
= 57 xlog 5 = log 4 y=1o yp=2
TR P L T logss =1 ar! logyx = 2

log 5 i x=3 o x=9



